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There are in all 30 questions in this question paper. All questions are
compulsory.

Question No.1 to 8 carry one mark each. Question No.9 to 18 carry
two marks each, Question No. 19 to 27 carry three marks each and
Question No. 28 to 30 carry five marks each.

Question No.1 to 4 are multiple choice questions. Here four options
are given in each question. Write the correct option in your answer
book.

There is no overall choice in question paper, however, an internal choice
has been provided in two questions of 2 marks, three questions of 3
marks and all questions of 5 marks each. You have to attempt only
one of the given choices in such questions.

Use log tables, if necessary. Use of calculator is not permitted.
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Fr=taRaa & s semae! faega o Feforaar & -

(i) NaCl (i) TN (i) @™
Which of the following prepare colloidal solution-
(i) NacCl (ii) Glucose (iii) Starch
Yemielet 5 A foera & & ol -

(i) 37 A 3} e HUWR e 2
(i) A T P G EEEIoH § T4
(i) A 571 @Y feenfug a=a |

(iv) $79 9 D15 el

Alcohol are soluble in water because -

(i) they have higher molecular weight than water.

(i) they form Hydrogen Bond with water.
(i) they displace water.

(iv) None of these.

(iv) SRTmTRE

(iv) Barium Nitrate

K,[Fe(CN),] difiis % =g tRT] Fe &Y IueRidioH T & -

(iv) Eﬁ#aﬂé%“r

(iv) None of these

(i) 4 (i) 10 (i) 6

The Coordination Number of central atom Fe in K, [Fe(CN),] compound is-
() 4. (i) 10 (i) 6

R o & -

(i) 40% BHifcseRs faeaa (i) 30% Brifesarss faeaw
(iiy 40% Refeeers fAem= (iv) 379 ¥ B T8l

What is Formalin-

(i) 40% Formaldehyde solution (ii) 30% Formaldehyde solution

(ii) 40% Acetaldehyde solution (iv) None of these

81 2 M=t & s o)
Write name of any two Proteins.

HHHUT ded HUH TR & FoaWE aaf cIid 87

Why do the transition elements exhibit higher enthalpies of atomisation?
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7. FfoRea difiet & wrafie, fdas don gdias vl vrafe- 1
Identify Primary, Secondary and Tertiary amine in following compounds-

(i) CHs— fl\'— CH,CH, (i) CH,NHCH,CH, (ii)) CH,CH,NH,
C,Hs

8. T 3 1ot 3@ W erew # S s Nacl & Riera F Rigs o &, aite |
Excoriated egg inflates in water whereas deflates in concentrated NaCl Solution,
Why?

9. ﬁmmmmmgmmsﬁa@mﬁmm
&R & | B 2
Haloalkanes shows nucliophilic substitution whereas Haloarens shows
electrophilic substitution. Explain.

10. R a=e0 &t Het srawn & qof wRa d-®erd (4d) 21 3y B o7 o & B g
T HHHUT T &7 2
Silver atom has completely filled d-orbitals (4d™®) in its ground state. How can
you say that it is a transition element?

11. (B) ST foig & 39 aan wwer &7 1

What do you understand by Lattice point?
() v Biea B e B et Rt & T e :
Name the parameters that characterise a unit cell.

12, giica! 3 1 Theset A9 B FHHR| 2
Explain Schottky defect and Frenkel defect.,

13. W Hife - 1+1=2
Clarify -

(@) tiowpat gemgs gdta B ge W st F afteoia € wt
Alkyl Halides though polar are immiscible in water. Why?
(@) U1 Bl & 516 FRRISOI BT ST f5aT ST &7
What happens when Chlorobenzene is subjected to Hydrolysis.
430 (10X) [3] [P.T.O.
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14, TfE 22 g &I 122 g ST gTamines # geht 1 o 30 vd o EeTaeiness & aw
wfcrera &t or Hifore| 2

Calculate the Mass percentage of benzene and carbon tetrachloride if 22 g of
benzene dissolved in 122 g of carbon tetrachloride.

3Yar (OR)
TS EIeR (1030 g) TR el & 6x 10-3 g Jiardisr geft 1 siteior & wrean &, & 0w,
(ppm) W §aTSA|
6x10-% g of oxygen dissolved in one liter sea water (1030 g). What is the
concentration of oxygen in ppm.

15. TE3INI ohael -1 SHaRIDROT Srawen Vafbfa e & srafts 37 &0 +1, +3, +5 g
+7 HEHHROT AT N Fefeia axa & amen S 2

Fluorine exhibits only -1 oxidation state whereas other halogens exhibit +1, +3,
+5 and +7 oxidation states also. Explain.

16. 1 el &1 3fua Jamexvr wigd wwEEy - 1+1=2
Explain the following terms with suitable example -
(®) Uedraic (@) R

Alcosol Aerosol
JAYTT (OR)

El-geat @1 aEmEd | 2
Explain Hardy-Schulze law,

17. FrafiRes sumesdism difire! & 1upac am fiRaw - 1+1=2
Write the IUPAC names of the following coordination compounds -
(B) [Pt(NH,),CI(NO,)] (@) K,[Cr(C,0,),]

18. fobeit e sraercy faeram & avereer auT AeR aredar & gRT S| 2
Define Conductivity and Molar Conductivity of an electrolyte solution.

19, (F) HHHUT U & HTHemor o &7 1
(a) What are the characteristics of the transition metals?
(@) d- il & acal § - 1+1=2

(i) ®F X dcg Tgpwor A0 & I TE B o T &P
(i) HEHHOT Y T 35 SHfererer A srasta o &7
430 (10X) [4)
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(b) In d-block Elements -
(i) which of the elements may not be regarded as the transition
elements?
(i) why transition metals and many of their compounds are

paramagnetic?
20. 45 g ORI TP (C,H,0,) BT 600 g 57et ¥ fireran wam| Ryerom 3 Rewicp 3w
(AT,) B o BRI [ K, (AeTet 3w ReRrid)=1.86 K kg mol! ] 3

45 g of ethylene glycol (C,H,0,) is mixed with 600 g of water. Calculate the
Freezing point depression (AT,) of solution.

K¢ (Molal depression constant)=1.86 K kg mol-!,
21. FrafoRea il a1 ama Reris dRek Hifse - 3
Cu(s) + 2Ag* (aq) - Cu?**(aq) + 2Ag(s) E® 4 =0.46V
Calculate the equilibrium constant of the following reaction -
Cu(s) + 2Ag™* (aq) —» Cu?*(aq) + 2Ag(s) E® (cery=0.46V
22. frfoiaa uRftefoat F For Yamr 2 - 1+1+1=3
What are the observations in following cases -
(®) 319 Jeoret foRoT §a7 PIeTad) et o ¥ To e B
When a beam of light is passed through a Colloidal Sol.
(@) Ferafora BRe sifaares dfa & Nacl dga Jmucy e s )
An electrolyte NaCl is added to hydrated Ferric Oxide Sol.
(M) DS Hier § & dega Ry yaiEa B s )
Electric current is passed through a Colloidal Sol.

23. () T 15 & I 3acif & aeal @Y GerTr o 16 B et & T 3 DO B A
AT B4 gl &1 &4f? 2

Elements of group 16 generally show lower value of first ionisation
enthalpy compared to the corresponding periods of group 15. Why?

(&) H,0 03 &7 aam H,s g &, it 1
Why is H,0 a liquid and H,S a gas?
Al (OR)
430 (10X) [5] [P.T.O.
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(B) TR SIBIATT1SS g B srawrenen fafér &1 aof= i 1%

Describe laboratory method of preparation of Sulphur dioxide.

(T) HeR BT DI A1 Y ST AGER Tafda e &2 1%
Which form of Sulphur shows Paramagnetic behaviour?
24. T sfuferasii o gof Hifse - 1+141=3

Complete the following reactions -

(B)  C,HNH, + CH,COCI == (Fyridine)
(@) C,H.NH, + HNO, —Neho.-ha
(M CgH.NH, +3Br, —=58

25. (@) Wi A afufpard & e SFe &t st sty veftfa 2 &1 2
Give two reactions that show the acidic nature of phenol.
(W) TR A BivieT s B Tarai-e sivfsar el 1
Give chemical reaction for the preparation of phenol from chlorobenzene.
JAYar (OR)
fafeiaa aiftret & 1UPAC = fefvae - 1+1+1=3

Write IUPAC names of the following compounds -

(@) CH, —CH-— (I:H ~CH—CHOH (@ CH— fllH — O —CH,CH,
| I
oi CI CH, CH, CH;

CH, CH,

()

26. (%) D- TIdI U WaeINT B TRTT feifae| 2
Write structure of D-glucose and fructose.
(@) D-T@r & Hufsar HI & e ferfRae) 1
Write chemical reaction of D-glucose with HI.
3RIGT (OR)
(@) AT sl B SuTentt sl 3 3 S T 1

How do you explain the amphoteric behaviour of amino acids.
430 (10X) [6]
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(@) DNA TUT RNA & 3ifds &1 F9amzd | 2
Explain Biological functions of DNA and RNA.

27. (®) Jugesdis- difiel & wwag e aan &7 IEER0T aied SREEd| 1

What is coordination sphere in coordination compounds? Explain with

example.
(@) VePIETe & FaUIS $R A 31fires A &, Fai? 1
The boiling point of alcohol is higher than ether, why?
(1) 3Tfaa 3P & MR W T & Ffiexor s 1
Give the classification of Proteins on the basis of Molecular shape.
28. PR ffoarsi @) gof A - 1x5=5

Complete the following reactions -
(@) HCOOH+Ag,0——
(@) 2CH;CO0H —2%
™ (heat)
() HCHO+HCN——
() CH;CHO + 2C,H;OH —F=HaT=ldry HCiges)

() 2CH,CHO a7 NaOH (dil.NaOH)

JAYal (OR)
= afifemansit & wwemsy - 1x5=5
(@) Ry Hfufesa (@) Feirae e sfifsan
(M) Tl (@) P dgasmues afufear
(5) 2e-dreend Afcvat sfufsar
Explain the following reactions -
(a) Cannizzaro reaction (b) Clemmensen reduction reaction
(c) Esterification (d) Kolbe electrolysis reaction

(e) Hell-Volhard Zelinsky reaction

29. (®) 3icales Thd X Tgiea UiTe & o & fafty wrmafsres st wita fafae)

3

Write method of preparation of Nitric acid by Ostwald's process with chemical
reactions.

430 (10X) 7] [P.T.O.
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@) Ry e st o gof s - 2
Complete the following Chemical reactions -
(i) Cu+ HNO, (¥ / Conc.) ——
(i) I, + HNO, (W= / Conc.) ——
25aT (OR)
(@) TSI +5 FitaiaRor srawy awar & A g derss T e 8, TP
12

Nitrogen exhibits +5 oxidation state but it does not form Pentahalide, Why?

() gy dares & andra smee o stfea fafae| 1%
Write the reaction of thermal decomposition of sodium azide.
) Fre afifeanstt @) of Sifve - 14+1=2
Complete the following reactions-
(i) CH,+0,—— (i) 4Al+30, ——
30. (&) vH SuH P o afufisar &1 &1 Rerie 1.15x103 s 81 39 sfufear 7
RIBRS BT 5 g WA Teax 3 g 8 | fba1 TR eram? 3

A first order reaction has a rate constant 1.15x1073s-!. How long will 5 g

of this reactant take to reduce to 3 g?
(@) TR R & AT R THE SN a0 PR BT Ieed DT | 2

Mention the factors that affect the rate of a chemical reaction.

3dat (OR)
(@) FrefoRaa an feriat @ 5o ¥ afifsan & P B veam BT - 2
Identify the order of reaction from following units of rate constant -
(i) Mol Ls (i) s-?
(z) zarizd T worm IR o siffsar & 99.9% affemar gof 2 # e wwa 3rg 3G
@1 10 1 &1 2l 3

Show that in a first order reaction, time required for complition of 99.9% is
ten times of half-life of the reaction.

Fk Kk
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